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According to the mathematical equations listed below, rotation angle can be calculated precisely.

TKX-S &AL / TKX-S Formula

X1 Axis: 6X1= tanB * (Y-X1y)+X1x * (-1+1/cos8)+X
X2 Axis: 5X2=tanB * (Y-X2y)+X2x * (-1+1/cosB)+X

Y Axis: 6Y = tan8 * (Yx+Yy * sinf-X) +Yy * (cosB-1)+Y

&X1 : X1#avHE ZEES (mm) }

&X1: X1 Axis relative movement (mm) }

OX2 : X2BRUAHE R ES (mm) } (RIRIFIRRIZEES)

O&X2 : X2 Axis relative movement (mm) } (movement driven by ball screw)
Y : YH R B E X ES (mm) }

8Y : 'Y Axis relative movement (mm) }

X1x ~ X1y : 3BHEEEX1E _F iR O BRI H

X1x ~ X1y : Coordinate position of pivot on X1 Axis
X2x ~ X2y B EX28 ERedE cp O BRI E

X2x ~ X2y : Coordinate position of pivot on X2 Axis
Yx Yy BEEYH FRRED LN ERUE

Yx * Yy : Coordinate position of pivot on Y Axis
Xz E

: X Axis movement

YR E S

1Y Axis movement

OEZENS

: B Axis rotation angle
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X1x, X1y
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ik X1x Xly X2x X2y Yx Yy
TKX-100S -46 15.5 -46 -15.5 41 -375
TKX-140S -55 30 =55 -30 55 -55
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(X2x , X2y)

(fF+X A B Ehome®)

TKX-S st E &%

il X1x Xly X2x X2y e Yy
TKX-170S  29.5 67.5 29.5 -67.5 67.5 -29.5
TKX-200S 38 82.5 38 -82.5 82.5 -38
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